
RCI SUBARU TRANSMISSION SKID INSTALLATION
GUIDE



**Use hand tools, impact wrenches may cause damage if over torqued.**

Preparation
1) Remove the bolts at the following locations.

Figure 1: Bottom View Bolts to Remove.

2) *Engine Skid Owners* If you have an engine skid installed.

a) Loosen the rear engine skid mounting points enough to slide the new

transmission skid between the engine skid and the frame.

Installation
3) Begin by unpacking and removing all components and hardware. Please verify

that all hardware and mounting components are present. Reference your original

order invoice and verify all items are accounted for.

4) For RCI engine skid owners, skip to step 7.

5) Collect the MP1 plates and Speed Clips. Assemble MP1 Plate as shown.



Figure 2: Assembly of MP1 Plates and Speed Clips.

6) Using one of the assembled MP1 plates, partially thread one M10 x 35mm bolt

with a 7/16” washer into the speed clip. Insert it into the applicable slot(s).

a) For model years that require use of a hole place the MP1 plate without the

bolt threaded in from above. See figures below.

Mounting Hole Compatibility
Model Year Mounting Holes

Outback

2020-2023 2 4

2024

2025

Crosstrek 2018-2024 2 4

Forester

2014-2018 2 3

2019-2024 2 4

2025+

Legacy 2019-2024

WRX 2022-2024

Impreza 2017-2022

Table 1: Speed clip location based on model year.



Figure 3: Speed clip location key for Table 1.

Figure 4: Installation and assembly process for slot mounting.



Figure 5: Installation and assembly process for hole mounting.

7) For Engine skid owners, loosen the rear mounting bolts. Pull down on the engine

skid to create a gap.



Figure 6: Engine Skid Spacing Compatibility.

8) Slot the skid plate front end in first and hand tighten front mounting bolts.

a) Slot in between frame and engine skid if present.



Figure 7: Transmission Skid Front Installation.

9) Moving towards the rear of the skid plate, determine which set of square holes

align with your transmission mount. See below.



Figure 8: Alignment of square hole with transmission bolts.

10) Collect 2x rear brackets, 2x ⅜” nuts, 2x ⅜” split washers, 2x ⅜” washers, and

2x ⅜” x 1” carriage bolts. Bolt the brackets into the holes chosen in the previous

step and hand tighten.



Figure 10: Rear bracket hardware installation.

11) Collect 2x ⅝” tall spacers, 2x 7/16” washer, and 2x M10 1.25 x 45mm bolts.

Install the upper hardware onto the bracket as shown. Adjust the brackets to

align with the holes of the bolts removed in the preparation phase. Hand thread

the bolts in.



Figure 9: Rear bracket pre-install assembly.

Figure 11: Alignment of bracket slot with frame holes.

12) Adjust skid position to desired position and tighten all hardware.





Figure 12: Final Torque of All Hardware.

Enjoy your new RCI protection!

Share your new install with us on social media!
We love seeing our products out in the wild!



www.rcimetalworks.com

sales@rcioffroad.com

970-797-3089
REV: 1 | 9/29/2022

mailto:sales@rcioffroad.com

